

AN APPLICATION OF CONVOLUTION INTEGRAL

Junichi Nishiwaki ¹, Shigeyoshi Owa ²

We dedicate this paper to the 70th anniversary of Professor Srivastava

Abstract

Applying the Bernardi integral operator, an interesting convolution integral is introduced. The object of the present paper is to derive some convolution integral properties of functions $f(z)$ to be in the subclasses of the classes $\mathcal{S}^*(\alpha)$ and $\mathcal{K}(\alpha)$ by making use of their coefficient inequalities.

MSC 2010: 30C45

Keywords and Phrases: analytic function, starlike function, convex function, convolution, Hölder inequality, Bernardi integral operator

1. Introduction

Let \mathcal{A} denote the class of functions $f(z)$ of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n$$

which are analytic in the open unit disk $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$. A function $f(z) \in \mathcal{A}$ is said to be starlike of order α in \mathbb{U} , if it satisfies

$$\operatorname{Re} \left(\frac{z f'(z)}{f(z)} \right) > \alpha \quad (z \in \mathbb{U})$$

for some α ($0 \leq \alpha < 1$). Also a function $f(z) \in \mathcal{A}$ is said to be convex of order α in \mathbb{U} , if it satisfies

$$\operatorname{Re} \left(1 + \frac{zf''(z)}{f'(z)} \right) > \alpha \quad (z \in \mathbb{U})$$

for some α ($0 \leq \alpha < 1$). The classes of starlike and convex functions $f(z)$ of order α are respectively denoted by $\mathcal{S}^*(\alpha)$ and $\mathcal{K}(\alpha)$, and $\mathcal{S}^*(0) \equiv \mathcal{S}^*$ and $\mathcal{K}(0) \equiv \mathcal{K}$. These classes $\mathcal{S}^*(\alpha)$ and $\mathcal{K}(\alpha)$ were introduced by Robertson [7].

It follows from the definitions for the classes $\mathcal{S}^*(\alpha)$ and $\mathcal{K}(\alpha)$ that $f(z) \in \mathcal{K}(\alpha)$ if and only if $zf'(z) \in \mathcal{S}^*(\alpha)$.

Silverman [10] showed the following coefficient inequalities for the the classes $\mathcal{S}^*(\alpha)$ and $\mathcal{K}(\alpha)$.

LEMMA 1.1. *If $f(z) \in \mathcal{A}$ satisfies the following coefficient inequality:*

$$\sum_{n=2}^{\infty} (n - \alpha) |a_n| \leq 1 - \alpha \quad (1.1)$$

for some α ($0 \leq \alpha < 1$), then $f(z) \in \mathcal{S}^*(\alpha)$.

LEMMA 1.2. *If $f(z) \in \mathcal{A}$ satisfies the following coefficient inequality:*

$$\sum_{n=2}^{\infty} n(n - \alpha) |a_n| \leq 1 - \alpha \quad (1.2)$$

for some α ($0 \leq \alpha < 1$), then $f(z) \in \mathcal{K}(\alpha)$.

We define the subclass $\mathcal{T}^*(\alpha)$ of $\mathcal{S}^*(\alpha)$ consisting of functions $f(z)$ which satisfy the coefficient inequality (1.1) and the subclass $\mathcal{C}(\alpha)$ of $\mathcal{K}(\alpha)$ consisting of functions $f(z)$ which satisfy the coefficient inequality (1.2).

For functions $f_j(z) \in \mathcal{A}$ ($j = 1, 2$) given by

$$f_j(z) = z + \sum_{n=2}^{\infty} a_{n,j} z^n \quad (z \in \mathbb{U}), \quad (1.3)$$

the Hadamard product (or convolution) of $f_1(z)$ and $f_2(z)$ is defined by

$$(f_1 * f_2)(z) = z + \sum_{n=2}^{\infty} a_{n,1} a_{n,2} z^n.$$

Furthermore, We also define the convolution integral of $f_1(z)$ and $f_2(z)$ below:

$$(f_1 \circledast f_2)(z) = \int_0^z \frac{(f_1 * f_2)(t)}{t} dt = z + \sum_{n=2}^{\infty} \frac{a_{n,1} a_{n,2}}{n} z^n.$$

This convolution integral was studied by Duren [3].

In the present paper, we aim at presenting some interesting application of convolution integral.

2. An application of convolution integral

For functions $f_j(z) \in \mathcal{A}$ ($j = 1, 2, \dots, m$) given by

$$f_j(z) = z + \sum_{n=2}^{\infty} a_{n,j} z^n \quad (z \in \mathbb{U}), \quad (2.1)$$

Bernardi [2] considered the integral operator

$$B_j(z) = \frac{1+c_j}{z^{c_j}} \int_0^z t^{c_j-1} f(t) dt \quad (c_j > -1).$$

Libera [4] studied the above operator for $c_j = 1$, and Alexander [1] studied it for $c_j = 0$.

Using the Bernardi integral operator, we consider a new application of the convolution integral operator as follows:

$$\begin{aligned} (B_1 * B_2)(z) &= \frac{1+c_1}{z^{c_1}} \int_0^z t^{c_1-1} f(t) dt * \frac{1+c_2}{z^{c_2}} \int_0^z t^{c_2-1} f(t) dt \\ &= z + \sum_{n=2}^{\infty} \frac{(1+c_1)(1+c_2)}{(n+c_1)(n+c_2)} a_{n,1} a_{n,2} z^n. \end{aligned}$$

Hence, we see the application of convolution integral of $f_1(z)$, $f_2(z)$, \dots and $f_m(z)$ below:

$$(B_1 * \dots * B_m)(z) = \frac{1+c_1}{z^{c_1}} \int_0^z t^{c_1-1} f(t) dt * \dots * \frac{1+c_m}{z^{c_m}} \int_0^z t^{c_m-1} f(t) dt. \quad (2.2)$$

For functions $f_j(z) \in \mathcal{A}$ ($j = 1, 2, \dots, m$) given by the equality (2.1), the familiar Hölder-type inequality assumes the form

$$\sum_{n=2}^{\infty} \left(\prod_{j=1}^m |a_{n,j}| \right) \leq \prod_{j=1}^m \left(\sum_{n=2}^{\infty} |a_{n,j}|^{p_j} \right)^{\frac{1}{p_j}}, \quad (2.3)$$

where $p_j > 1$ ($j = 1, 2, 3, \dots, m$) and $\sum_{j=1}^m \frac{1}{p_j} \geq 1$.

Our result for the application of convolution integral defined by (2.2) is contained in next theorem.

THEOREM 2.1. *If $f_j(z) \in \mathcal{T}^*(\alpha_j)$ for each $j = 1, 2, \dots, m$, then $(B_1 * \dots * B_m)(z) \in \mathcal{T}^*(\beta)$ with*

$$\beta = 1 - \frac{\prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}{\prod_{j=1}^m (2 - \alpha_j)(2 + c_j) - \prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}.$$

P r o o f. For $f_j(z) \in \mathcal{T}^*(\alpha_j)$, Lemma 1.1 gives us that

$$\sum_{n=2}^{\infty} \frac{n - \alpha_j}{1 - \alpha_j} |a_{n,j}| \leq 1 \quad (j = 1, 2, 3, \dots, m)$$

which implies

$$\left(\sum_{n=2}^{\infty} \frac{n - \alpha_j}{1 - \alpha_j} |a_{n,j}| \right)^{\frac{1}{m}} \leq 1.$$

Applying the Hölder-type inequality (2.3), we arrive the following inequality

$$\sum_{n=2}^{\infty} \left\{ \prod_{j=1}^m \left(\frac{n - \alpha_j}{1 - \alpha_j} \right)^{\frac{1}{m}} |a_{n,j}|^{\frac{1}{m}} \right\} \leq \left(\sum_{n=2}^{\infty} \frac{n - \alpha_j}{1 - \alpha_j} |a_{n,j}| \right)^{\frac{1}{m}} \leq 1.$$

Then we have to determine the largest β such that

$$\sum_{n=2}^{\infty} \frac{n - \beta}{1 - \beta} \prod_{j=1}^m \frac{1 + c_j}{n + c_j} |a_{n,j}| \leq 1,$$

that is,

$$\sum_{n=2}^{\infty} \frac{n - \beta}{1 - \beta} \prod_{j=1}^m \frac{1 + c_j}{n + c_j} |a_{n,j}| \leq \sum_{n=2}^{\infty} \left\{ \prod_{j=1}^m \left(\frac{n - \alpha_j}{1 - \alpha_j} \right) \right\}^{\frac{1}{m}} |a_{n,j}|^{\frac{1}{m}}.$$

Therefore, we need to find the largest β such that

$$\frac{n - \beta}{1 - \beta} \prod_{j=1}^m \frac{1 + c_j}{n + c_j} |a_{n,j}| \leq \prod_{j=1}^m \left(\frac{n - \alpha_j}{1 - \alpha_j} \right)^{\frac{1}{m}} |a_{n,j}|^{\frac{1}{m}},$$

which is equivalent to

$$\frac{n - \beta}{1 - \beta} \prod_{j=1}^m \frac{1 + c_j}{n + c_j} |a_{n,j}|^{1 - \frac{1}{m}} \leq \prod_{j=1}^m \left(\frac{n - \alpha_j}{1 - \alpha_j} \right)^{\frac{1}{m}} \quad (2.4)$$

for all n ($n = 2, 3, 4, \dots$). Since

$$\prod_{j=1}^m \left(\frac{n - \alpha_j}{1 - \alpha_j} \right)^{1 - \frac{1}{m}} |a_{n,j}|^{1 - \frac{1}{m}} \leq 1,$$

we see that

$$\prod_{j=1}^m |a_{n,j}|^{1-\frac{1}{m}} \leq \frac{1}{\prod_{j=1}^m \left(\frac{n-\alpha_j}{1-\alpha_j}\right)^{1-\frac{1}{m}}}. \tag{2.5}$$

From the inequalities (2.4) and (2.5),

$$\frac{n-\beta}{1-\beta} \prod_{j=1}^m \frac{1+c_j}{n+c_j} \leq \prod_{j=1}^m \frac{n-\alpha_j}{1-\alpha_j},$$

so that we find for β that

$$\beta \leq 1 - \frac{(n-1) \prod_{j=1}^m (1-\alpha_j)(1+c_j)}{\prod_{j=1}^m (n-\alpha_j)(n+c_j) - \prod_{j=1}^m (1-\alpha_j)(1+c_j)} \tag{2.6}$$

Let $F(n)$ be the right hand side of the last inequality (2.6). Further, let us define $G(n)$ by the numerator of $F'(n)$. Then $G(n)$ gives us that

$$\begin{aligned} G(n) &= - \prod_{j=1}^m (1-\alpha_j)(1+c_j) \left\{ \prod_{j=1}^m (n-\alpha_j)(n+c_j) - \prod_{j=1}^m (1-\alpha_j)(1+c_j) \right\} \\ &+ (n-1) \prod_{j=1}^m (1-\alpha_j)(1+c_j) \{ (n-\alpha_2)(n-\alpha_3) \cdots (n-\alpha_m)(n+c_1) \cdots (n+c_m) \\ &\quad + (n-\alpha_1)(n-\alpha_3) \cdots (n-\alpha_m)(n+c_1) \cdots (n+c_m) \\ &\quad \vdots \\ &\quad + (n-\alpha_1) \cdots (n-\alpha_{m-1})(n+c_1) \cdots (n+c_m) \\ &\quad + (n-\alpha_1) \cdots (n-\alpha_m)(n+c_2) \cdots (n+c_m) \\ &\quad \vdots \\ &\quad + (n-\alpha_1) \cdots (n-\alpha_m)(n+c_1) \cdots (n+c_{m-1}) \} \\ &= - \prod_{j=1}^m (1-\alpha_j)(1+c_j) \left\{ \prod_{j=1}^m (n-\alpha_j)(n+c_j) - \prod_{j=1}^m (1-\alpha_j)(1+c_j) \right\} \\ &\quad + (n-1) \prod_{j=1}^m (1-\alpha_j)(1+c_j) \left\{ \sum_{j=1}^m \frac{\prod_{j=1}^m (n-\alpha_j)(n+c_j)}{n-\alpha_j} \right\} \end{aligned}$$

$$\begin{aligned}
& + \sum_{j=1}^m \frac{\prod_{j=1}^m (n - \alpha_j)(n + c_j)}{n + c_j} \Bigg\} + \prod_{j=1}^m (1 - \alpha_j)^2 (1 + c_j)^2 \\
& = \prod_{j=1}^m \{(1 - \alpha_j)(1 + c_j)(n - \alpha_j)(n + c_j)\} \times \\
& \left\{ (n - 1) \sum_{j=1}^m \frac{1}{n - \alpha_j} + (n - 1) \sum_{j=1}^m \frac{1}{n + c_j} - 1 \right\} + \prod_{j=1}^m (1 - \alpha_j)^2 (1 + c_j)^2 \geq 0.
\end{aligned}$$

Thus we show that $F(n)$ is increasing function for integers n ($n = 2, 3, 4, \dots$). This means that

$$\beta = F(2) = 1 - \frac{\prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}{\prod_{j=1}^m (2 - \alpha_j)(2 + c_j) - \prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}.$$

Therefore, we complete the proof of the theorem. \blacksquare

Setting $c_j = 1$ in Theorem 2.1, we have

COROLLARY 2.1. *If $f_j(z) \in \mathcal{T}^*(\alpha_j)$ for each $j = 1, 2, \dots, m$, then $(B_1 * \dots * B_m)(z) \in \mathcal{T}^*(\beta)$ with*

$$\beta = 1 - \frac{2^m \prod_{j=1}^m (1 - \alpha_j)}{3^m \prod_{j=1}^m (2 - \alpha_j) - 2^m \prod_{j=1}^m (1 - \alpha_j)}.$$

Furthermore, setting $c_j = 0$ in Theorem 2.1, we obtain the next result.

COROLLARY 2.2. *If $f_j(z) \in \mathcal{T}^*(\alpha_j)$ for each $j = 1, 2, \dots, m$, then $(B_1 * \dots * B_m)(z) \in \mathcal{T}^*(\beta)$ with*

$$\beta = 1 - \frac{\prod_{j=1}^m (1 - \alpha_j)}{2^m \prod_{j=1}^m (2 - \alpha_j) - \prod_{j=1}^m (1 - \alpha_j)}.$$

Below, we derive the application of convolution integral for the class $\mathcal{C}(\alpha)$.

THEOREM 2.2. *If $f_j(z) \in \mathcal{C}(\alpha_j)$ for each $j = 1, 2, \dots, m$, then $(B_1 * \dots * B_m)(z) \in \mathcal{C}(\beta)$ with*

$$\beta = 1 - \frac{\prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}{2^{m-1} \prod_{j=1}^m (2 - \alpha_j)(2 + c_j) - \prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}.$$

P r o o f. In view of the proof of Theorem 2.1, we obtain

$$\beta \leq 1 - \frac{(n-1) \prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}{n^{m-1} \prod_{j=1}^m (n - \alpha_j)(n + c_j) - \prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}, \quad (2.7)$$

and it is easily to show that the the right hand side of the inequality (2.7) is increasing function for all n ($n = 2, 3, 4, \dots$). Thus we have completed the proof of the theorem. \blacksquare

If we take $c_j = 1$ in Theorem 2.2, we deduce

COROLLARY 2.3. *If $f_j(z) \in \mathcal{C}(\alpha_j)$ for each $j = 1, 2, \dots, m$, then $(B_1 * \dots * B_m)(z) \in \mathcal{C}(\beta)$ with*

$$\beta = 1 - \frac{2^m \prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}{2^{m-1} 3^m \prod_{j=1}^m (2 - \alpha_j)(2 + c_j) - 2^m \prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}.$$

Finally, by taking $c_j = 0$ in Theorem 2.2, we derive the following

COROLLARY 2.4. *If $f_j(z) \in \mathcal{C}(\alpha_j)$ for each $j = 1, 2, \dots, m$, then $(B_1 * \dots * B_m)(z) \in \mathcal{C}(\beta)$ with*

$$\beta = 1 - \frac{\prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}{2^{2m-1} \prod_{j=1}^m (2 - \alpha_j)(2 + c_j) - \prod_{j=1}^m (1 - \alpha_j)(1 + c_j)}.$$

References

- [1] J.W. Alexander, Functions which map the interior of the unit circle upon simple regions. *Ann. of Math.* **17** (1915), 12-22.

- [2] S.D. Bernardi, Convex and starlike univalent functions. *Trans. Amer. Math. Soc.* **135** (1969), 429-446.
- [3] P.L. Duren, *Univalent Functions*. Ser. "Comprehensive Studies in Mathematics" 259, Springer-verlag, New York-Berlin-Heiderberg-Tokyo (1983).
- [4] R.J. Libera, Some classes of regular univalent functions. *Proc. Amer. Math. Soc.* **16** (1965), 755-758.
- [5] J. Nishiwaki and S. Owa, An application of Hölder inequality for convolutions. *Bull. Allahabad Math. Soc.* **23** (2008), 235-244.
- [6] S. Owa and H. M. Srivastava, Some generalized convolution properties associated with certain subclasses of analytic functions. *J. Inequal. Pure. Appl. Math.* **3** (2002), 1-13: Article 42.
- [7] M.S. Robertson, On the theory of univalent functions. *Ann. Math.* **37** (1936), 374-408.
- [8] S. Ruscheweyh and T. Sheil-Small, Hadamard products of schlicht functions and the Polya-Schoenberg conjecture. *Comment. Math. Helv.* **48** (1973), 119-135.
- [9] A. Schild and H. Silverman, Convolution of univalent functions with negative coefficients. *Ann. Univ. Mariae Curie-Sklodowska Sect.* **29** (1975), 99-107.
- [10] H. Silverman, Univalent functions with negative coefficients. *Proc. Amer. Math. Soc.* **51** (1975), 109-116.

¹ *Department of Mathematics*
Setsunan University
Neyagawa, Osaka 572-8508, JAPAN
e-mail: jerjun2002@yahoo.co.jp

² *Department of Mathematics*
Kinki University
Higashi-Osaka, Osaka 577-8502, JAPAN
e-mail: owa@math.kindai.ac.jp, shige21@ican.zaq.ne.jp

Received: GFTA, August 27-31, 2010